FENIKTE D AR

- HH2FEILAIERIT KRERHEL - FHXEREERRE

1 2 3 4 5 6 7 8
FTEDH |BG% L |BGDI1Z |BG%2E |BG%HE |BRKRE |BICHSE |BICH
MERAW [BHICERE [ 1BFE |BLARL |FRLEL ZLEL |5 FE =
nWHD (Lo [ZZHL £ HD 7=HD ZEE L
=6 7=HD
1 JLX 0 0 18 0 3 188 64 9 282
2 HEX 0 2 17 0 4 137 23 23 206
3 mEX 0 0 11 0 2 107 25 15 160
4 B 0 0 14 0 6 93 30 11 154
5 HhoR X 0 1 15 0 4 134 51 13 218
6 PaXx 0 2 21 0 1 146 35 21 226
7 A 0 1 16 0 8 122 32 11 190
8 KIEX 0 2 12 0 14 74 37 6 145
9 RXEFKX 0 2 0 3 149 24 13 194
10 RERX 0 3 0 1 46 26 8 87
11 7EE) 1 X 0 10 0 13 157 46 17 245
12 TENX 0 4 24 0 7 279 61 51 426
13 | =EIIEKX 0 4 10 0 10 268 66 46 404
14 X 0 0 22 0 3 117 45 9 196
15 ABX 0 0 23 0 5 140 48 19 235
16 BX 0 2 1 0 1 168 43 14 229
17 WER X 0 1 33 0 9 268 76 29 416
18 BRKX 0 1 25 0 3 192 50 23 294
19 | FIEEX 0 0 21 0 8 203 48 27 307
20 | I 0 5 22 0 8 201 54 26 316
21 EFEX 0 2 29 0 8 266 65 20 390
22 | HEEK 0 4 9 0 3 257 50 19 342
23 FEFX 0 6 20 0 0 378 96 18 518
24 78 % X 0 5 27 0 3 147 57 22 261
=1l 0 57 398 0 127 4,237 1,152 470 6,441




